
1
2

Remove strut and basket assembly. 
Remove hardware from struts and 
detach canopy. Use a brace to support 
the canopy. Retain hardware. 

Install main brackets using hardware 
from Pack 1. Position the brackets as 
shown. Tighten hardware.

01-007/ 01-008

Rear Flip Seat 
WILL FIT E-Z-GO® TXT® AND FREEDOM TXT®

installation instructions 

2 Brackets2 Footrest 
Brackets

Seat Frame
Footrest

2 Bagwell 
Brackets

2 Seat 
Back Brackets

2 Armrests

Seat Back 
Support Bracket

Struts
Lean Back Cushion

Seat Bottom Cushion

included:

HD Bracket

Revised January 2015



3
4

5
6

Mount the Bagwell brackets to the OUTER 
holes using hardware Pack 2.

Attach footrest as shown using remaining 
hardware  from Pack 3.

Attach rear seat frame.  Using hardware from 
Pack 3, attach to the front lean back brackets.

Using hardware Pack 3, mount bagwell 
bracket to frame as shown.

IMPORTANT: Do not tighten hardware until 
Step 9 is complete.
Make sure the bagwell brackets sit on the 
inside of the bar as shown. Mount the seat 
frame to the top of the bagwell brackets. 



7
8

9
10

Attach armrest to the front edge of seat frame 
using the hardware from Pack 4.

Using the hardware from Pack 5, attach the 
seat back support bracket and the armrest in 
two locations. Mount provided rubber spacer  
inbetween the armrest and seat back support 
bracket.  Repeat process on the other side. 

Install the rear struts using hardware from 
Pack 5. Attach at the bottom first. Repeat 
process on the other side. Tighten all 
hardware.

After rear struts are attached, remove brace. 
Insert rear struts into canopy channel. Using 
hardware retained from Step 1, attach rear 
struts to the canopy.



1
1

2
3

11Using remaining hardware from Pack 5. Install 
the foot rest brackets. Bracket goes behind 
armrest and under footrest. Repeat process 
on other side and then tighten hardware.

Using the hardware from Pack 6, install the 
lean back brackets onto the seat back cushion.

Mount the lean back cushion onto the seat 
back support bracket using remaining 
hardware from Pack 2. Once both sides have 
been attached, tighen hardware.

141. Place  HD  bracket on flip seat as shown. 
Align bracket holes to the flip seat mounting 
holes. 
 
2. Make sure the thickest part of the seat 
bottom points towards the footrest. Center 
seat bottom from left to right on flip frame. 
Press cushion firmly against HD bracket 
and seat frame. Using provided hardware 
tighten the seat bottom to seat frame as 
shown.

1
2



E-Z-GO®, E-Z-Go® TXT®, and E-Z-Go® RXV® are registered trademarks of Textron Innovations, Inc. (“Textron”). Reference to E-Z-Go®, TXT®, or RXV® or any of Textron’s 
trademarks, word marks, or products is only for purposes of identifying golf carts with which this Madjax product is compatible. Madjax products are aftermarket parts and are 
not original equipment parts. Madjax is not connected to, affiliated with, sponsored by, or endorsed by Textron or any of its subsidiary companies. 

Hardware Pack
Pack 1	
4	 8x25 Hex Bolt
8	 8x20mm Flat washer
4	 8mm lock washer
4    Rubber Washer

Pack 2	
4	 10x45mm Hex Bolt
8	 10x20mm Flatwasher
4	 10mm Lock nut
4    Rubber Washer

Pack 3	
6	 10x25mm Hex Bolt
12	 10x20mm Flat washer
6	 10mm Lock nut
6    Rubber Washer

Pack 4	
2	 10x40mm Countersunk
2	 10x20mm Flat washer
2	 10mm Lock nut
2    Rubber Washer

Pack 5	
10	 10x70mm Hex Bolt
20	 10x20mm Flat washer
10	 Rubber Washer
10	 10mm Lock nut

Pack 6	
4	 6x25mm Hex Bolt
4	 6mm lock washer
4	 6x17mm Flat washer

Pack 7	
8	 8x35mm Countersunk

3

1

2

16

4

5

5

9

7

7

10

8

6

12 11

13

13

14
14

15

WARRANTY PARTS
EXPLODED VIEW DIAGRAM

01-007/008 GENESIS150 REAR FLIP SEAT FOR E-Z-GO TXT
(007-TAN / 008-WHITE) 

Seat cushions not included on Seat Frame Only Kits.


